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Time : 3Hrs.
Sem. V -Arch

Ar. Dgn. & Drw. -II

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O
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Show furniture layout inside a bedroom.

Make sectional elevation of a kitchen.

Sketch plan of reception area in an office.

OR

OR

10.

9.
8

8

Old Syllabus



21537501 37501

1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

P.T.O

Minimum width of main entrance door is:

(a) 30cm

(b) 60cm

(c) 90cm

(d) 105cm

................ colour reflects maximum heat.

(a) Black

(b) White

(c) Red

(d) Yellow

OT5058OT5058

Answer all Five Questions. 
8 x 5 = 40

7.

8.

Sketch plan of a kitchen.

OR

8

8

Sketch elevation of a milk booth.

OR
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P.T.O

(iii)

(iii)

(iv)

(ii)

When we mix red colour with yellow it gives:

(a) Red

(b) Green 

(c) Blue

(d) Orange

Red is a ............colour.

(a)  Hot

(b)  Cool

(c)  Neutral

(d)  None of these

OT5058 OT5058

2m x 1m

riser and tread.

4

OR

OR

6.

Make a sketch of glazed door.

2m x 1m.
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P.T.O

(v)

(v)

(vi)

(iv)

The lintel level is...............high.

(a) 180 cm 

(b) 200 cm

(c) 190 cm

(d) 210 cm

The space left around the building is called

(a) Setback

(b) Plinth

(c) Portico

(d) None of these

                                   OR

4

4

4

4.

5.

OR

OT5058OT5058

What is set back? why they are essential.

?

?

Define carpet area.

3.
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P.T.O

Space left at back side of building is called

(a) Front set back

(b) Rear set back

(c) Side set back

(d) None of these

Thickness of plaster on surface of brick wall

is :

(a) 6 mm 

(b) 12 mm

(c) 10 mm 

(d) 15 mm

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4 x 5 = 20

Sketch a study chain.

(xx)

OT5058 OT5058

Make a view of study table.

OR

4                     
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P.T.O

Skirting is used on:

(a) Wall

(b) Floor

(c) Ceiling

(d) None of these

Chimney is installed in......................

(a) Drawing room

(b) Bed room

(c) Store

(d) Kitchen

The minimum width of a toilet should be.....

(a) 1.5 m

(b) 1.8 m

(c)  2.0 m

(d) 2.5 m

The thickness of lintel is.................

(a) 10 cm

(b) 15 cm

(c) 20 cm

(d) 25 cm

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

OT5058OT5058
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P.T.O

The minimum width of working plateform of

kitchen is............

(a) 30 cm

(b) 60 cm

(c) 90 cm

(d) 100 cm

Exhaust fan is generally provided in ..........

(a) Toilets

(b) Kitchen

(c)  Both (a) and (b)

(d) None of these

We use............colour in hospital

(a) Red

(b) Blue

(c) Green

(d) White

Air conditioning is  the way of providing 

comfort:

(a) Natural

(b) Standard

(c) Mechanical

(d) None of these

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)

OT5058 OT5058
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P.T.O

Chajja is provided to protect the building from

(a) Heat

(b) Rain

(c) Both (a) and (b)

(d) None of these

Perspective view is ...........dimensional 

(a) One 

(b) Two

(c) Three

(d) Four

.............dimensions are there in front elevation.

(a) Two

(b) Three

(c) Four

(d) None of these

The size fo brick according to BIS in............

(a) 190 mm x 90 mm x 90 mm

(b) 200 mm x 90 mm x 90 mm

(c) 210 mm x 100 mm x 100 mm

(d) None of these

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT5058OT5058
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11. Make a view of bus stand.

Make a view of a crowded road.

OR

8
11. Make a view of bus stand.

Make a view of a crowded road.

OR

8
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